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Abstract

In this independent study, we investigate how linear algebra can be used to integrate
certain types of functions. For each of these function types, we construct a matrix
transformation derived from the selection of associative bases and vector spaces. We obtain

alternative methods to solve these integrals as well as some integral formulas.
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undl 1
Ui (Introduction)

Rogers [1] lananfsmsuszendliiivadindaduluwnanda lnedinsnarsianismusiusiag
m3Uszgndvesnsulaudaduniaumediaing 9 Tut 2005 Sprows [2] nandwannisidiuiu lay

wuluwIAnlun1sUSHUSYeeHlendy e cos(3x) Fsunfnalnedldn1smusnusLuuLengIy

[
v

Milisanunsamusiusvesuilsitulalaenisaiiegiu B uasd3giinnees 1 fNaenndes

a v o v a ¢ a v -1
wagmsiklaaady 7:V >V IG]EJ‘U'WI‘U?{TNL?,Jﬂ/lﬁﬂ‘lisUaﬂﬂ’]iLLUaﬂL?IQL?I‘N [T]B N3k [T]B

lunsfinunll isnazagunannsvesuvsndnisudasdiaduniundssgndlunismusnusves
Handuuneguuuy wWu xfe™, xcos(kr), xsin(kr), €™ cos(kx), Uay xe™ cos(kx) BlagUNFL

HandumaddasldimaianisrusnuswuuLeNaIU
InUszaAvaIn1sAuAingass (objective)

1. WafAnwILazas 19Nk Ua T RAUBAZLUNS NTNThUANT A

2. weldwmindilalunismeniusiazUiusvasilanduuiaguiuy

YDUIAVDINISAUAIDATY

'
= 1 )

nsauaiyasmingivelilunismusnusvesunaileiduuiagluuundudeulaiunsaunly

9 9

1%
=

Tymladreunnd@ulagldanudaniigadngady
ad o A 'Y Y a
Bnsadunisauaindase

1. Anverudiugufivedadadu wu msulasdaduiasaving

2. AnwanAdeiifetes

3. deauigiu uaginsigaillaenmslimauasdadulumamneyiusuasUsiusyaasuuuy
Handu

4. Weugliay uagnTIIEeuANYNABS



UszlevidinadnazlasuannnisAunindase (expected benefits and application)

1. lanumuanuanniivadadady wasuaaasd wazaiunsatiluussyndly
2. lansuandfiane 9 Tunsasienisudasedusasumsng nsmeyiuswasUTiusveaileidu
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uni 2
v X

AMUNUFIU (Preliminaries)

o 2.1 WV Gueeilddueadng wdeudensaniunis 2 ¥da fie msuin @ sewninauninves
V owazmsan O sendneanndnves aun (feld) F Avawn@inves ¥ 5en V' wiauadgnisaidunis
Maapsdn Usglinmas (vector space) fn1sailiunsnsaesila denndesiuaud® 10 o deluil

dusvaundn u,v,w a9 lu ¥V wazaudn a,b lnqlu F
1. u®veV

2. u®v=v®u

3 u@(vew)=(vou)dw

a. fiaandn 0, Tu ¥ @ 0, dwduyn q aundn u Tu ¥

5. dmsuudazandn o lu ¥ faudnlu ¥V iflesidewinty Weuunude —u oed 0,
6. aQuel

7. aQu®v)=(@Qu)®(a®v)

8. (a®@h)Qu=(aQu)®(bOu)

9. abQu=a0bOu)

10. faundn 11y Fds 10u=u dwdunn 9 aundn ueV

[SUSeNALTN VeV 1 1nwas (vector) Tu V' wazaudn a Tuawiy 711 a@wnans (scalar)

dmsunisAnwiasell Ifiansandigiinnneiuuawiy F=R wiiy

d' a 1Y ° o a 1 ° o
IWDAMUAZAINLTIVLWHULNUNITUIN D A8 4+ d195U a Qu 15198 WWHULNUAIY qu dINSU

NIRRT u Uay a el

o 2.2 WV dudiglinness uar S Wuwedesnliluwninwes ¥V Sen S iy Usgliges

a a s

(subspace) a4 V Asaiile S Julsalinnwes

Y



ngefun 2.3 [3] fvueld ¥ dudiginnees uae S Juwedesililueninwes ¥V agldinn S

Huligiidesves V sl

1. 0vueS waz veS U u+ves
2. thueS wav aelF udr auesS
A10819 2.4 fegavelinlinnmes

1. R" lagldmsuvinvesnnees uagnispaumeainalsniuung

2. P={p|lp(x)=ax"+a, x""'+..+ax+a, a R}
C(R)={f:R > R| f Juilsidusaiios)
C(R)={f:R > R| f ansnsomauiusdusuil n 16 uay 1 seiles)

elin1suIniuufiazgn (pointwise addition) wagnsammigana1siuilsidumuunfvgliin

P, Judigiidesves C(R) Wuligligesves C(R) O
g 25T S={, v,,..., v,} Jusngesveasglinness ¥ azna1ndn unwes v Tu Vil
nasIudY (linear combination) 989 S Aseldle fanais 9 a,, a,,..., a, N9%

v=ay +a,v,+...+a,yv,

sdenudadneal Span{S}={av, +a,v, +...+ay, |a €F} deiu Span{S} Juntosves
Vv gslundniu Span{S} wWulsgldesaes V

QA s

G 2.6 I V1 udiniinnmes uag S={v, v,,..., v,} Wuwndesves V awiFon S 31 uina

U

(span) V fsellevn 9 nawesly ¥ Wunasuidaduvesnmesty S dufe Span{S}=V

fienw 2.7 T 7 Judtglinnees uaz S={, v,,..., v,} Juandeswes V uar a, a,,..., a

n

Juainansla 9

[ = [ = & a a Y

0 av, +a,v, +..+ay, =0 Ua a, =a,=...=a, =0 wen § MUY daTLVILAY
(linearly independent)

[ - a o < . o A [ a [ 1 & a

0 av, +a,v, +...+ay, =0 azliunuby i U a, =0 udazEen S 91 Wiiludase

Wadu (linearly dependent)



aQ A [

fiww 2.8 1 V7 Jutiglinnwes uaz B ={v,v,,...,v,} Wuwngesves V aziBen B 7ulu gu

Y

(basis) vas V' Asioiile

1. B wivh V

2. B Judasz@udu

A29819 2.9 fregguveIliglinnines

1L {l, x, ) Juguees B
2. {(1,0), (0,1)} Jugruwes R’ O

% 1 a

fon 2.10 WV Juvsafinnmesifsnda uad 4R (dimension) ves ¥ @euunusie dim(V)

Y
nneie Iunnwesieglugiuves V dmsunsain Vz{()} eflendly dim(V) =0 wagazisSen

[

Y3giinmes ¥ 41dl §@dfa (finite dimension) o1 dim(V) =n dwiuu1e neN

ngufun 2.11 [3] W V7 Quliglinnwes waz B Jugiuwes V udwn vel azawnsodieulugy

NATIUTLEUYRIENNTINIY B IaLNemUULRemiNTY

<,

e 2.2 W 7 Gudiglionees uaz B=1{v, v,,..., v,} Wugiwwes ¥V dwsu vel &

= v sa v a v o
V=ew eV, tetey, Wo ¢, ¢, ¢, € F um nnasiiavas V faeandasiugiu B

(coordinate vector of v with respect to the basis B) \liguunusig [v], deuilag



forw 2.4 WV owas W Judiglinnwesuu F Senilsddu T:V > 3180u nsudasdadu

(linear transformation) a1n V 1Ufa W a1 T a@ennasanuaudn 2 Uo aoludl
1 T(u+v)=T()+T(v) @msunnnmes u way v WV
2. T(cev) =cT(v) dmsunnnnwas v lu ¥ wazyn ceF

f0819 2.15 W neN g T:C"([R) > CR) oo T(f)=f" dwsunn feC”(R) i T

Junsuvasdadu

Wgad s TS+ 6) =+ )" =D +(L)" =T(K)+T(f,) dmsun f wae £, Tu
C”(R) wag T(cf)=(cf)" =cf" =cT(f) dmiunn feC”(R) wazynanans c Fou T 1

ASLUANTLEY O

g 2.16 Wi 7 Judiglinnees waz B={v, v,,..., v,} Wugwes ¥ &1 7.7 > Jums
wUaaliadunay wnsnduasnisulaadadu T Ndanndaesiugiu B (matrix representation of T

with respect to basis B) muunlay

[T, =[[TO)1 TG T )]

a a s

INUANDT e B=1{v,, v,,..., V } Lﬁugmsum |14

Y

ngegun 2.17 [3] W 7wl
i TV -7 Wunswlasdaduud [T], [v], =[T0)], dwiumn v Tu 7

fon 218 W TV 5w uay T Junsudaadadu i S 7 el SoT=1, uaz
ToS=1, dlo I,:V >V uag I, : W > W udwzdon S 9dmniuves T (the inverse of T)

FAWeukny S oy T

ngeun 2.19 [3] o1 77 > Wunsulasdadu uay T (Juilsiduniisiontauasinduds T
unisulaadadu

Y @ 1 =

ngeun 2.20 [3] &1 7:7 > Wunisudas@adu udy T mdunduld fdewde T Wuilaidunds

AONUILATNIING



ngeun 2.21 [3] W 7.7 -7 Junmswdaadadu uag B Jugiuves ¥ aglid
1. T wwnduld Adewdle wvisnd [T], SumSndundu
[y 1 | [ [ -1 _ -1
2.6 T menld uda ([T]) _[T ]B
fa9819 2.22 AMvuanisulaadaduy T:R* — R? dewlag
T(x,x,) = (x, +X,,—2x, +4x,) d&wunn (x,x,)eR way B={(,1), (1,2)}
Duguves R?
Woan T(x,x,)=(x, +x,, —2x +4x,)

aglein T(L)=(2,2) wax T(1,2)=(3,6)

W [7,0], =[(2.2)], = {al}

a,
N5 (2,2) =a,(1,1)+a,(1,2)
=(a, +a,,a,+2a,)
9l a,+a, =2 way a, +2a, =2

NAILATEUVANNIT 221997 Nalae A9 a, =2 Way a, =0

ot [TLD], =[(2,2)], =B} Tuvhueafeniu azlain

0 v & a ¢ a v = Y ) 2
[7(1,2)], =[(2,2)], =| ., |fetlu wvindveansulaadaeiu T fidenaqesiugiu B Ae
B B 3 2

[7], =[[ra.n)], T2, |= [3 (3)}

ke

([T =

S N

W | —



nnguiun 2.21 aglei

f10819 2.23 W T: P, > P, flenalay T(p(x)) = p'(x) dmsunn p(x) € P, uan

71, =

[T, =@

0

o O O O
Lo O O =
O O b O
. W

0 00

= 2 [
We B={l, x, x,.., x"} Uug ey P,

YV o

wga wiuldtndn 7 Wunisudasdadu

o N | —

AolUagyuvsng vasnswlaadady T Naennsosiugiy B

NANTUN

T()=0, T(x)=1, T(x*)=2x,.., T(x")=nx""

Juie
0]
0
0
[TM], =] .
0
_O_(n+l)><l

? [T(x)]B:

[Teh] =

(n+1)x1

0
0
0
n
0_(n+1)><(n+1)
yeees [T(x”)]B =
(n+1)x1

(n+1)x1



AIlL VSNGUeIN swUantiedy T Vdennasiugiu B A9

[7], = [[T(l)]B (T (x0)]1, E[T(xz)]g e [T(x )]B}

S o o =

[T]B =

Lo O O O
O O O

L o d(n+1)x(n+1)

A1a81e 2.24 msmeusiusues 3+7x° legldlamsnd [T],

210 A1989 2.23 Azl

Taanguiun 2.17 aglei

di(3+7x2) =T(3+7x*) = (0)1+(14)x + (0)x* =14x
x
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uni 3

Nan15An® (Main results)

TuunilisagAnwismsvsnusvesitandu laen1sussgndanuianiviivadindadu lnasy
nilsituieglusy kae'”dx We k,neN lagunfuainsagmarnesddisnismusiusiuuuendiu
k A3e wimnlinguuni@nwselull asanansamenvesUiusvesilsidulalasielaglund 1s1ay

Anwnsal k=2

unig 3.1 @ usunn 0zneR WV =Span{B} o B={e™, xe™, x’¢"} uazllenunsuuaais

W TV =V g T(f)=f" dmiunn f eV ud

n
0
Wgav iansansiaaeuldin B WudassiBadu deililédn B ugiuves ¥
sellagmuyEndvosnisulasBadu T fiaenndesiugiu B
RRHIY

T(e")=ne™

T(xe™) =nxe™ +e™

T(x’e™)=nx’e™ +2xe™
thifie
1

n 0
[T(e’“)]Bz 0], [T(xe"")L: , [T(xze"*)]Bz 2
0 n

n
0
Aell wnsnduaanisulaadadu T fidennaediugiu B A

(7], = | [T, T (xe™), i Te™) ], |



A19819 3.2 NMIMBUNUSYRY 3™ —6xe™ +7x°e™ lagldunas 3.1

NUNHY 3.1 aglan

S WD =
W\ N O

Tnemguiun 2.17 aglei

[T(3e5x —6xe’* + 7xzesx)}

B

51 0] 3 9
=10 5 2| -6|=|-16
0 0 5|7 35

1(365*' —6xe™ +7x°e™) =T (3™ —6xe”" +Tx’e’™)
X
=9’ —16xe’ +35x°e™

NQuuN 3.3 dwsunn 0=neR uag a,b,ceR

Iae’“ +bxe™ +cx*e™dx :(ﬁ b + Eje”’“ + (é - 2—5} xe™ + [S) x’e" +C

2 3
n n n n n n

a L4 o/ a A 4 (% dy
wgaul azainuialinnees ¥ waggiu B aail
W B={e™, xe™, x*e™} way V = Span{B}
nunel 3.1 aglean B uguves ¥

Asanswlasdady 7.V > 7 fdewlay T(f) = f" dwmsunn feV

[T]B [3@” —6xe”" +7x%e" ]B

11



NUNHY 3.1 aglan

iiesan det[T]B #0

f191J

nnngquiiun 2.21 aléd [T])

A9

T7'(ae™ +bxe™ +cx’e™) = (

fa b

2
n n

b 2¢

2
n o n

C
n

n 1
[7],=|0 »
0 0
11

n n’

o 1

n

0 0

2¢ |

3

n

12

S NN O

N:lt\)

N|

S |~ 3

a

[T’l(ae’”‘ + bxe™ +cxze”““)]B = [T’l]B [(ae"" + bxe™ +cxze”")]3 = [T]%B b

c

b 2¢) . (b 2¢) ., (¢) 2 m
———2+—3 e + —— xe +|— [x"e
n non n o n n

TagunALal N15MUSHUSTUINTAWATY 151899UINARIN C N9e1uYnile Felundisiliaiunsavinla

wsnzasyily 77" Tddunisuuaadadu



[

! a' a ° o &
izuINAIAIn C IUﬂ'ﬁLGUEJuﬂ'WW@UEjWVl']EJWQU

a b 2c (b 2c c
Iae”‘+bxe”+cxze”dx= ———+t— e + ——— xe™ +| = |x*e™ +C
n n n n n n

f19874 3.4 N1SIUSHUSVDY j4e2x +3xe* +5x% e dx

Taanguiun 3.3 9zlaan

I4ezx +3xe™ +5x7 e dx = 4 —iz + 2(? e + 3 ——2(3) xe + s x’e™
2 20 2 2 2 2

(166410 5. (6101 o (5) 2o
8 4 2

_ 5¢* —2xe;" +5x%e* e

dusunsa _[x"e’”‘dx anansafigadlaluihusadediu

dodann dmsuswdy kon lae k>0,n>1 1% V = Span{B} \ie

B={e",xe",x’e",..,x"e"} waslienn T:V >V oo T(f)=f" dwiunn f eV um

n 1 0 0 0 O

0 n 2 O 0 O

0 0n 3 O 0
[T],=|0 0 0 n 4 :

000 0 n . 0

SRR i

o000 - 0 ] sty

13
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soluiniarsanilanduiioglugy xcos(kx) way xsin(kr) e 0=k e R

UNRe 3.5 @ mSU 0=k eR W ¥ = Span{B} \ilo B ={sinkx, coskr, xsinkr, xcoskx! warien
TV -V g T(f)=f" dmiun f eV ud

0 -k 1 O
k0 0 1
71, =
0 0 0 -k
0 0 £ O
Wgau noudwsazuansin B ugmuves v
W a,a,,a,,a, € R @ a sinkx+a, coskx+a3xsinkx+a4xcoskx=6 (1)
@on x=0 2lei1 a, =0
RRERY
a, sinkx+a3xsinloc+a4xcoskx=6 (2)
WMeuRusguiU x naeeaun1s (2) ki
a,k cos kx +a, (ko cos kx +sin kx) + a, (—kvsin kx + cos kx ) = 0 (3)
A 72- 72. o % 1% a 1%
\dan x =0, X=oo X= wnuly (3) suddiv aglaszuuaunsiga
ak+a,=0
7
a,—a,—=0
2

—ka,—a,r—a, =0
Fadeunsyuvannsgaduiliaiazlan
a,=a,=a,=a, =0 ooy B Judasvidaudu

v 1 I
wledn B Wugiuves V
nndew T:V -V g T(f) = f dmsunn feV

azlon T Wunisudaadady
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seluazmiuminduesnisulaadadu T Aaennrdesiugm B
W50

T (sinkx) = k cos kx

T(coskx) =—ksin kx

T (xsin kx) = kx cos kx + sin kx

T'(xcos kx) = —kx sin kx + cos kx

3wl
0 —k 1 0
‘ k 0 . 0 !
[T(sinkx)], = ol [T(coskx)], = o I [T(xsinkx)], = o | e [T(xcoskx)], = »
0 0 k 0
fau wvdndvesnisudandadu T fiaenedesiugiu B fe
0 -k 1 O
, : : : : k0 0
[T], =[[T(smkx)]3 [T (cos k)], :[T (xsin kx)], {[T(xcos kx)]B] “lo 0 0 —&
0 0 £ O

79819 3.6 NMIMBUNUTVRY xcos(6x) Tngn1suszandliunms 3.5

Ty ngufun 2.17 9zlaan

[T(xcos(6x)):|3 =[T1], [x cos(6x)]B

0 =6 1 07[0] [0
6 0 0 ol |1
1o 0 0 —6/l0] |6
0 0 6 of1] |0



i

%(x cos (6x)) = T(xcos (6x)) = (0)sin (6x)+ (1) cos (6:x) +(~6)xsin (6x)+(0)xcos (6x)
= cos(6x)—6xsin (6x)

NQEfun 3.7 dmsU 0=k e R 2glan

Ixcoskxdx ——coskx+ ;{ xsinkx+C

Ixsmlocdx——smloc—%xcosk)HC

Wgail 11availSglinnnes ¥ uasgu B fail
% B ={sinkx, coskx, xsinkx, xcoskx} uaz V = Span{B}
nunea 3.5 agléi B ugiuves v

W TV -V ey T(f)=f" dmiunn feV

wlein 7 Wunisuuaadadu

INUNET 3.5 aglAain

0 -k 1 O

[T] _ k0 0 1
510 0 0 -k

0 0 k£ O

iiesan det[T]B =0

16



Aty
0 L 0
k k
tool
-1
[T]B - 1
0o 0 0 —
k
0 O 1 0
L k
nnngquiiun 2.21 aléd [T]) =[7" ]B
ol
0
- _ 4|0
[T 1(xcos/’oc)]B=[T IL [(xcoskn)|, =[T] ", ol=
1

aglein
1 1 |
T~ (xcoskx) = — coskx +—xsin kx
k k
Tufie
1 |
Ixcoslocdxzpcosloc+%xs1nloc+C
dwdunsdl [ xsinkedr annsafigodldluhusadionty
f29819 3.8 NTUTNUGUDS Ixcos(Sx)dx
Taanguiun 3.7 9zlaan
1 |
Ixcos(Sx)dx=5—zcos(5x)+gxsm(5x)+c

= 2L5cos(5x)+%xsin(5x)+C

17
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oluiTagmavesilesiduieglugy ™ cos(kx) way " sin(kx) \ilo nkeZ
lpgnsUszendnUINIVINYANATUEY

Uneg 3.9 dwsunn mkeZ ¥ n waz k Wiluaudndoudu I V = Span{B} e B={e"sinkx,

e coskx} uazlignuniswlaadaudu 7:7V >V g T(f)=f" dwsunn [ eV udr

G

Wgaw neuduisnazuansdn B ugiuves ¥
W a,a, eR T3 ae™ sinkx+a,e™ coskx =0

nr nmw

dl T o w % a v e = 5

1eon x=0 uag x:ﬁ ANaU agleszuvaunISBudY a, =0 way ae® =0 \Wesn e >0
Yo v & @ a a £

2wl a, =a, =0 aslu B Judasziadu

waztlloann V = Span{B}

o A I

uuae B ug ey ¥

AolUagymuvsndvaaniswlasdiadu T Videnndesiugiu B

RRERIY

T(e™ sin kx) = ne™ sin kx + ke™ cos kx

T (€™ cos kx) = —ke™ sin kx + ne™ cos kx

n

[T(e’”‘ sin kx)]B = {Z} LAy [T(e’”‘ cos kx)]B = {_k}

Aelil wnsndusanisulaatadu T fidennaediugiu B A

[T], = [[T(e’” sin kx)]B E[T(e”" cos kx)l;} _ L’Z _nk} O



A18814 3.10 NMIMBYRUTVRY €™ cosdx Inen1suszyndliunds 3.9

Yo

azlen

Ty nguijun 2.17 azlain

[T(e cosdx) | =[T],[ " cosdx]
s T

di (e’ cos4x) =T (e cos4x) =—4e** sindx +3e>* cos4x
x

Tngunfudanisazmusiusvesiandulunguiuniiaznanseluil sesddisnismusnusiuy
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) 5 D = I~ ' =~ i a o 6 su v Y 1o & w v
wendiuwsinnlEnguiuniAnwsislul azanunsamAvesUsiusvesilanduls lnglidndudesddnig

mUINuUSLUULENEIU

nauiun 3.11 dmsunn nkeZ 33 n uay k Lidugudndondu ezl

) n
ﬁe”" smkx+ﬁe’”‘ coskx+C
k

je”"coskxdxz
n +k n-+

[
a

Wgadl 15nzaiedsplinnees 1V uazgiu B fall
¥ B={e™sinkx, €™ coskx} way V = Span{B}
nunea 3.9 9l B (Juguves ¥

W TV >V g T(f)=f" dmiunn feV
9wlean T lunsudaadadu

INUNAT 3.9 aglain



iiesan det[T]B #0

Sty
n k
-1 1 n k ks ok’
[T], ==5—7]|
n-+k k n k n

azlen

_ k ) n
T (e"™ coskx) = ——— €™ sinkx + ——— €™ coskx
n +k n +k

——e" sinkx+ ———¢€" coskx+C
n +k n +k

jem‘ cos kxdx =

A19814 3.12 MsUINUSVDS Ie“x cos 3xdx

Taanguiun 3.11 aglei

Ie‘” cos 3xdx = —%e“" sin 3x+%e4x cos3x+C
4743 4743

3 4. 4 ,
=——¢"sin(-3x)+—e"" cos(-3x)+C
5 (=3x) 55 (=3x)

dmsunsal _[e’”‘ sinkxdx a@nansoigaulaluiueadeiu

nouiun 3.13 dmsunn nkeZ 31 n uay k Lidugudndondu aglad

J.e”"sinlocdx:%e”sinloc— zk 2e’”‘coslochC
n +k n +k
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soluazisnvgiiansanilaiduiteglusy xe™ coskr, xe™ sinkr Wlo nkeR

UNAY 3.14 dwsunn nkeZ 35 n wez k ldidugudndoudu i V = Span{B} \illo B ={e" sinkx,
" coskx, xe™sinkx, xe™ coskx} uazdlgnunisulasdadu T:V -7 lag T(f) = f" dwmiun
feVumn

n -k 1 0
[T] |k n 0O
510 0 o —k
0 0 k£ n
Wgaul wazuansd B wWugiuves v
W a,,a,,a,,a, R R
a,(e" sinkx)+a,(e" cos kx) + a,(xe™ sinkx) + a,(xe™ coskx)=0 Q)]
@on x=0 azlein a, =0
N5
a,(e™ sinkx) + a,(xe™ sin kx) + a,(xe™ coskx) = 0 (2)
WeuRusguiU x naeeaun1s (2) ke
ka, cos kx + a, (kx cos kx + sin kx) + a,(—kx sin kx + cos kx) = 0 3)

- T T o w % a v
Ld9n x=—r x=0 Uay x= wuly (3) muanu aglaseuvannIsTLEy

ka,+a, =0
—ka, —a,r—a, =0
FadlomAmauLalzlai a =a, =a, =a, =0

fatiu B 1Wudassigadu



dlosann V = Span{B} aglsin B Lﬁugwumaa v
sellazmiumindvesnsulaadadu T fiaenndesiugiu B
N304

T (€™ sin kx) = ne™ sin kx + ke™ cos kx

T(e"™ coskx) = —ke™ sin kx + ne™ cos kx

T(xe™ sin kx) = €™ sin kx + nxe™ sin kx + kxe™ cos kx

T (xe™ coskx) = e™ cos kx — kxe™ sin kx + nxe™ cos kx

aglain
n —k 1
[T(e"™sink) | = l(; , [T(e™ cosh) | = g , [T(xe™sinko) | = 2 ,
0 0 k
0
[T(xe’”coskx)]gz _lk
n

v & a ¢ a v ‘:4' v ) a
ANUY LUNINTURINITIUANTIEAY T Wﬁ@@ﬂa@ﬂﬂ‘UE’]u B fA®

7], = [[T(e’”‘ sinkx) | [ T(e” coskn) ] i[ T(we™ sinkx) | [ T(xe™ cos kx)u

> X o =
|
N

22



A18814 3.15 NMIMoURUGVRY xe’* cosdx lnansussendunas 3.14

azlen
3 4 1 0
4 3 0 1
7], = -
0O 0 3 4
0 0 4 3

Iy ngufun 2.17 9zlain

[T(xeBx cos 4x)]B = [T]B [xe3x cos 4x]B

3 4 1 07[0] [0
4 3 0 1|of |1
1o 0 3 —4|0| |-4
0 0 4 31| |3

a’i (xe™* cos4x) =T (xe™ cos4x) = e cos4x —4xe™ sin 4x + 3xe’™ cos 4x
x

nauiun 3.16 dmsunn nkeZ 33 n uay k Lidugudndoudu ezl

nx 2nk nx s _n2+k2 nx nx e
Ixe coskxdx:—ﬁe smkx+ﬁe cos kx + —— Xe sin kx
(n"+k7) (n"+k°) n +k
+— 2xe’“coskx+C
n +k

a ¢ o a a ¢ o &

WEIU L319zaTNUIQUNNNeT V' uazgiu B ol

% B ={e™ sin kx,e™ cos kx, xe" sin kx, xe™ cos kx} way V = Span{B}
nunes 3.14 azladn B Jugiuves ¥V

fow 7.7V > 7 log T(f) =" dmsunn f eV aldin T dunsudasdaudu
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INUNHY 3.14 9zlan

losan det[T]B #0

A9

1

T =
[ ]B (n2

+k%)

vnnquiun 2.21 agléd [7]) =[]

#1911

[T‘l (xe™ cos kx)]B = [T‘l ]B [(xe’” Ccos kx)]B

ke

T (xe™ cos kx) = —

24

n -k 1 0
[T] _ k 0 1
B0 n -k
0 k n
n(n®+k*) k(n*+k*) -n*+k’ —2nk
adj([T] ): —k(n* +k*) nn®+k%) 2nk —n’ +k?
B 0 0 n(n®+k*)  k(n®+k%)
0 0 —k(n* + k%) n(n®+k%)
I 2nk |
_(nz +k2)2
—n’+k’
(7 || R
k
n’+k’
n
n’ +k?
%e""sinkx+%emcoskx+ s— xe" sinkx
(n"+k7) (n"+k%) n +k
+ pERE xe™ cos kx



=
UUAD

2nk ) —n® +k*
2e’”‘smkx+ 2e’”‘coskx+

_ ek R ™ sin for
7 k) 7 + 1) PO Ea

Ixe”x cos kxdx =—

n
+ﬁxe’”‘ coskx+C

n +k

A18819 3.17 NMIMUSHUSVDS jxe“" cos 3xdx
laenguiun 3.16 aglei

2403)_ue 30, T

4x _
jxe cos3xdx = (42 +32)2 (42 +32)2

3 .
e cos3x+——— xe* sin3x
4743

+——— xe** cos3x+C
4°+3

__ e sin3x+ ie‘“‘ cos3x+ ixe‘” sin3x + 4 xe* cos3x+C
625 25 25 25

dmsunsal Ixe”" sinkxdx annsaigadlaluyiuesieiu

nauiun 3.18 dmsunn nkeZ 31 n uay k Lidugudndondu ezl

2 2
) -n-+k ; 2nk
Ixe"" sinkxdx=————¢€" sinkx+ ————e" coskx +

™ sin kx
7+ ) 7 1Y B

xe™ coskx+C

n® +k*

25
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uni 4
dyunan1sine (Conclusion)

NAIANIAUAT LIIMUINIIUTHUSYRIUTsATUdeldA snIUSIUS WU ULENEI LT 197
annsalinispauunindlunsmusiusialaenisaieuglinnnes ¥ uazgiu B Naeandesiufleidu
Ty Mntuaiaming [T], nmsuwlasdadu T(f) = Faagyililauving [T]l;l lnunsngil

o Y A a v 6
MMURUINLEUDUNITUIUTWUS

lsaunsamge s lulumsusiusvesusilanduuisguuuuls wu xfe™, xcos(kx),
xsin(kx), ™ cos(kx), waz xe™ cos(kx) ogalsfinu aiduunsgunuuanadeddnguiundu q w

Frelumsairaaming [T],
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,_‘ Abstract \

In this independent study, we investigate how linear algebra can be used to integrate certain types of functions. For each of these
function types, we construct a matrix transformation derived from the selection of associative bases and vector spaces. We obtain alternative
methods to solve these integrals as well as some integral formulas.

,—‘ Preliminaries | ,—' Main Results ]

Definition 1: Suppose the /' and ¥ are vector spaces over the same field . Using the above concept, we obtain the following results.
T:V — W is alinear transformation (linear map) if Lemma 6 Let V' = Span{B} where B = {sinkx, coskx, xsinkx, xcoskx}
1. T(v,+v,)=Tv, +Tv, forall v,v, eV and i a basis. Then
2. T(kv)=kTv forall k€F andforall veV . 0 -k 1 0
Let B={h,....b,} be abasis for /', and let T':V — V' be a linear mapping. [T]n _ ’(; g g lk
Definition 2: The matrix representation of 7' with respect to B is defined by i o i

(7], =[(reol, - 1[7e),

Theorem 3 The matrix [T]» is a unique matrix such that

Theorem 7

jxcosladx =i:coskx+ lxsinlcr+ G
[T]K[v]u :[T(v)]ﬂ (where [v]” is the coordinate vector of ¥ with respect to B). k k

Theorem 4 If 7' is bijective, then 7" is a linear map. In this case, [T];I = [T" ]v L Ixsinla’dx = isinkx—lxcos/ﬂ +C.
K k
In other words, the inverse matrix [T]il represents the inverse transformation 7. Lemma 8 Let V = Span{B} where B ={e" sinkx, e” coskx}. Then
Note that if 7:¥ — ¥ is the differentiation transformation 7'( /)= f”, then [T] n —k
T':V >V is the integration transformation (here we set + C' =0). "k on

Theorem 9 For all n,k €7 with n* +k* 20,

f_' Concept ) S fe" coskrdx = — lk: ¢ sinkr+— 1/‘2 e"coskx+C,

Let 7':¥ =V be alinear map defined by 7'(f) = f". J'e”‘sin/mix— 1 e 1 ek C
n+k n+k ’

Example 5 Let V' = Span{B} where B={sin(6x), cos(6x), xsin(6x), xcos(6x)}

is a basis. Then, the matrix representation of 7 is Lemma 10 Let V' = Span{B} where B ={e" sinkx, €" coskx, xe" sinkx,

0 -6 1 0 xe"™ coskx}. Then
[1],= 6 0 0 1 n -k 1 0
"o 0 0 —6f 7| @ L
00 6 0] 7, = 0 0 n k|
Consider v=xcos(6x). We have that 0 0 k n
0 -6 1 070] 0 Theorem 11 For all n,k € Z with n* +k* #0,
6 0 0 110 1 % 35
[7],0v], = B xe™ cos kxdx = 2nk = sin ko + — - s § ™ coskx + k xe™ sinkox
g g 2 ~06 (l) —06 I (“z +k’)‘ (“: +k2)- T
That is + ," - xe" coskx+C,
n+k’
d .
— 5(6x)) = cos(6x) — 6 6x). -+ »
dx (e ()Y e0s(61) =65 (6T) jxe"‘ sin kvdx = ? +/: —e”sinkx + :2"/‘1 " coskx +— 1 —xe™ sinkx
Now, consider (n wk ) (" tE ) vk
0 % % 0 0 C szzxe"'mskx+c.
ik
0
g0 A0 | -
L=l ¢ 36 (|0(_[36
S I o Lo |1 References —
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[2] Sprows J. D., Unsing Linear Algebra to do an integration by parts example,

Thus jst(ﬁx](lx = Lcos (Gx) + l_vfsin (6)c) +C.
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